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. Complete the sequence.

—2, 22, 42, ., 72

The rule for the sequence is

. Circle and correct the mistake in each sequence.
« 7875, 8875, 9875, 11875, 12,875, 13875, ...

« 864,664, 764,664, 664,664, 554,664, 444,664, ...
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Amir writes the first five numbers of a
sequence.

They are
3,666, 4,666, 5666, 6666, 7,666

Amir

The 10t term will be
15,322 because | will
double the 5t term.

Is he correct?
Explain why.
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| am counting up in

10s from 184
| will include 224

| am counting up in
100s from 604
| will include 1,040

| am counting up in
1000s from 13

I will include 130,000 Jack

Who has made a mistake?
Identify anyone who has made a mistake
and explain how you know.




